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NE AL 22l KEH 2019 M| 201957 |2019F E(20198 =| &5t
1 SR IR BEEAREXRZE 300 150 150 600
2 R X BEEAEXRZE 300 20 112 150 582
3 - iE BEEAREXRZE 200 150 40 390
4 | Kig HHY | BEHKREXRE 200 20 112 40 372
5 | KH BE#F fafE K= 200 75 75 350
5 | &t Ex#E &R K# 200 75 75 350
7 NHE X8 AR KE 100 15 40 20 175
7 =N AREFERKE 100 15 40 20 175
9 K Bx BEEAEXRZE 100 11 40 20 171
9 ® %A BERAFEXE 100 11 40 20 171
11 AL B AEFERKE 100 6 20 20 146
12 | /A ki | BEREFERXE 100 20 20 140
12 =t BE AmFERKRE 100 40 140
14 kB KA | BAEAXERKXE 100 2 2 20 124
15 | Bl #ihF| ‘EEFERXE 112 112
15 | A UMY | BEEERKE 112 112
17 | KK AHLGH &R KF 6 20 75 101
18 IEH & &R KF 75 75
18 HPERE &R KF 75 75
18 PRt R &R KF 75 75
21 AL AR RIGERRKZE 6 40 20 66
22 | [REA ¥HhE | BAEAXFERKE 40 20 60
22 Xz BRE | AERERXE 40 20 60
24 | K#H)I BR &R K# 11 20 20 51
25 B tiE &R KF 6 20 20 46
26 Fi BE REAZEKXRZE 40 40
26 NI E | BAERERXE 40 40
26 TR EK | BEARFEXRE 40 40
26 hH ER | AEXERXE 40 40
26 THEXE FEmERKRE 40 40
26 EEEE RIGEREKZE 40 40
32 Fa Ex RIGEREKZE 6 20 28
32 SE # &R K# 6 20 28
34 | KE HEEF &R K# 2 20 24
34 | BEAR MR JUIN F 3L KF 2 2 20 24
34 25H KEF EEXF 2 20 2 24




37 | SRR BE | BAERERKE 2 20 22
37 Hg EZ fafKE 20 2 22
37 Ll Fi EEXE 2 20 22
40 no wkiE RIGEREKE 20 20
40 FIER Bt JL T K= 20 20
40 EEET BEEAREXRZE 20 20
40 EHER BEEAREXRZE 20 20
40 hERA BEEAEXRZE 20 20
40 ReRIBHE RIGEREKE 20 20
46 LA B=X R XE 11 11
47 A AR FERKE 6 2 8
47 Mg & R XE 6 2 8
49 MO 2% AR FERKE 2 2 4
49 B WBF AR FERKE 2 2 4
49 =i X RERZEERKXE 2 2 4
49 £F ¥ RERZEEKXE 2 2 4
49 MR RS RIGKZF 2 2 4
49 AR X | AERERXE 2 2 4
49 | RE #AT BEREXFE 2 2 4
49 il EneE RiBXE 2 2 4
49 | E@ #EKRF BEREXFE 2 2 4
58 1T 5 NINEEKE 2 2
58 dwt Fik EBEXZ 2 2
58 PE RE EEXE 2 2
58 Pk = AEFERKE 2 2
58 & X% |[WREEEEHKZE 2 2
58 | IuO #bHREE =3 = 2 2
58 Bk &% | AEXERXE 2 2
58 Ak ¥ |WEEEEHXE 2 2
58 | ®H SHiE| NMNEEXRZE 2 2
58 BT EK fafE K= 2 2
58 BX =& EEXFE 2 2
58 ki B |(TREEEHKZE 2 2
58 HEXE RIGEREKE 2 2
58 NEuhE |TEEERHXE 2 2
58 K EE REARZEKXZFE 2 2
58 NEéE | BRXFERKFE 2 2
58 BEEER RIgKE 2 2
58 BHEEF RIgKE 2 2
58 FEFEEAR b NP Svi = 2 2
77 Rk E£=] NSy N= 1 1
77 inpE REEAREBIIXZE 1 1
77 HLE #kE ABRKE 1 1
77 | &Y Fos ABRKE 1 1
77 RE Wi BEREXE 1 1
77 ZBR B BEREXE 1 1




